Nonlinear Functional Analysis and Applications Vol. 19, No. 3 (2014), pp. 401-406

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2014 Kyungnam University Press



NEW OSCILLATION CRITERIA FOR CERTAIN TYPE OF THIRD ORDER MIXED NEUTRAL DIFFERENTIAL EQUATIONS

R. Rama¹, E. Thandapani² and S. Selvarangam³

¹Department of Mathematics Quaid-e-Millath Government College for Women Chennai - 600 002, India e-mail: renurama68@gmail.com

²Ramanujan Institute for Advanced, Study in Mathematics University of Madras, Chennai - 600 005, India e-mail: ethandapani@yahoo.co.in

³Department of Mathematics, Presidency College Chennai - 600 005, India e-mail: selvarangam.9962@gmail.com

Abstract. The objective of this paper is to establish a new oscillation criteria for the third order mixed neutral differential equation of the form

 $(x(t) + b(t)x(t - \tau_1) + c(t)x(t + \tau_2))''' + q(t)x^{\alpha}(t - \sigma_1) + p(t)x^{\beta}(t + \sigma_2) = 0,$

where b(t), c(t), q(t) and p(t) are positive continuous functions, α and β are ratios of odd positive integers, τ_1, τ_2, σ_1 and σ_2 are positive constants. We establish new sufficient conditions which ensure that all solutions are oscillatory. Examples are provided to illustrate the main results.

1. INTRODUCTION

In this paper, we are concerned with the following third order mixed type neutral differential equation of the form

 $(x(t)+b(t)x(t-\tau_1)+c(t)x(t+\tau_2))'''+q(t)x^{\alpha}(t-\sigma_1)+p(t)x^{\beta}(t+\sigma_2)=0, (1.1)$

for $t \ge t_0$. Throughout this paper, we assume the following hypotheses hold.

⁰Received February 11, 2014. Revised May 28, 2014.

⁰2010 Mathematics Subject Classification: 34C15.

⁰Keywords: Third order, neutral differential equations, oscillation, asymptotic behavior.

E. Thandapani, S. Selvarangam and R. Rama

- (H_1) $b(t), c(t), p(t), q(t) \in C([t_0), \infty, (0, \infty))$ and there exist b and c such that $b(t) \leq b, c(t) \leq c$ with b + c < 1;
- (*H*₂) τ_1, τ_2, σ_1 and σ_2 are positive constants and α and β are ratios of odd positive integers.

Let $\theta = \max{\{\tau_1, \sigma_1\}}$. By a solution of equation (1.1), we mean a real continuous function x(t) defined for all $t \ge t_0 - \theta$ and satisfying the equation (1.1) for all $t \ge t_0$. A solution of equation (1.1) is called oscillatory if it has large zeros on $[t_0, \infty)$, otherwise it is called nonoscillatory.

Recently there has been a great interest in studying the oscillatory and asymptotic behavior of differential equations.

In [3, 4], [6]-[16], the authors studied the oscillatory behavior of solutions of equation (1.1), when $c(t) \equiv 0$ and $p(t) \equiv 0$. In [8, 9, 15, 16], the authors discussed the oscillatory behavior of all solutions of equation (1.1) when $\alpha = \beta = 1$. Further in all the results the authors obtain sufficient conditions for the solutions of the third order differential equation is either oscillatory or tend to zero as $t \to \infty$. In [6] the authors obtain sufficient conditions which ensures that all solutions of equation (1.1) are oscillatory, when $b(t) \equiv -b$, $c(t) \equiv 0$ and $p(t) \equiv 0$. In [15], the authors obtain sufficient conditions for all solutions of equation(1.1) are either oscillatory or tend to zero as $t \to \infty$.

Motivated by the above observation, in this paper we obtain a stronger result in the sense that when all solutions of equation (1.1) are oscillatory. Therefore our result extend that of in [6] and improve the results given in [15].

In Section 2, we present new criteria for all solutions of equation (1.1) to be oscillatory. Examples are provided in Section 3 to illustrate the main results.

2. Oscillatory results

In this section, we present some new oscillation criteria for equation (1.1). For the sake of convenience, when we write a functional inequality without specifying its domain of validity, we assume that it holds for all large t.

We begin with the following lemmas which are crucial in the proof of the main results. For simplicity, we use the following notation, without further mention:

$$z(t) = x(t) + b(t)x(t - \tau_1) + c(t)x(t + \tau_2), \quad \sigma = \max(\sigma_1, \sigma_2),$$

$$Q(t) = \min\{q(t), q(t - \tau_1), q(t + \tau_2)\},$$

$$P(t) = \min\{p(t), p(t - \tau_1), p(t + \tau_2)\}.$$

402

Lemma 2.1. ([15]) Assume $A \ge 0, B \ge 0$. If $\delta \ge 1$, then $(A+B)^{\delta} \le 2^{\delta-1}(A^{\delta}+B^{\delta}).$ If $0 < \delta \le 1$, then $(A+B)^{\delta} \le A^{\delta}+B^{\delta}.$

Lemma 2.2. ([15]) Let x(t) be a positive solution of equation (1.1). Then there are only the following two cases for z(t) for all sufficiently large $t \ge t_1$.

(I) z(t) > 0, z'(t) > 0, z''(t) > 0, $(a(t) z''(t))' \le 0$; (II) z(t) > 0, z'(t) < 0, z''(t) > 0, $(a(t) z''(t))' \le 0$.

Using the above lemmas, we present a new oscillation criteria for the oscillation of all solutions of equation (1.1).

Theorem 2.3. Assume that $0 < \alpha < 1 < \beta$ and $\sigma_i > \tau_i$ for i = 1, 2. If

$$\liminf_{t \to \infty} \int_{t - \frac{(\sigma - \tau_2)}{3}}^t (\sigma - \tau_2)^2 P^{\eta_1}(s) Q^{\eta_2}(s) ds > \left(\frac{9}{4e}\right) \eta_1^{\eta_1} \eta_2^{\eta_2} \left(4^{\beta - 1}\right)^{\eta_1}$$
(2.1)

and

$$\int_{t_0}^{\infty} P^{\eta_1}(s) Q^{\eta_2}(s) ds = \infty,$$
(2.2)

where $\eta_1 = \frac{1-\alpha}{\beta-\alpha}, \eta_2 = \frac{\beta-1}{\beta-\alpha}$ are satisfied, then every solution of equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of equation (1.1). Without loss of generality, we assume that there exists a $t_1 \ge t_0$ such that x(t) > 0, $x(t-\sigma_1) > 0$ and $x(t-\tau_1) > 0$ for all $t \ge t_1$. From equation (1.1), we have

$$z'''(t) = -q(t)x^{\alpha}(t - \sigma_1) - p(t)x^{\beta}(t + \sigma_2) < 0 \quad \text{for all } t \ge t_1.$$

Then as in Lemma 2.2, we have z''(t) > 0 for all $t \ge t_1$. Define a function y(t) by

$$y(t) = z(t) + b^{\alpha} z(t - \tau_1) + c^{\alpha} z(t + \tau_2).$$
(2.3)

Since z(t) > 0 and z''(t) > 0, we have y(t) > 0, y''(t) > 0 and

$$y'''(t) + Q(t) \left[x^{\alpha}(t - \sigma_1) + b^{\alpha} x^{\alpha}(t - \tau_1 - \sigma_1) + c^{\alpha} x^{\alpha}(t + \tau_2 - \sigma_1) \right] + P(t) \left[x^{\beta}(t + \sigma_2) + b^{\alpha} x^{\beta}(t - \tau_1 + \sigma_2) + c^{\alpha} x^{\beta}(t + \tau_2 + \sigma_2) \right] \le 0.$$

Using Lemma 2.1 in the last inequality, we obtain

$$y'''(t) + Q(t) [x(t - \sigma_1) + b x(t - \tau_1 - \sigma_1) + c x(t + \tau_2 - \sigma_1)]^{\alpha} + P(t) \left[x^{\beta}(t + \sigma_2) + b^{\beta} x^{\beta}(t - \tau_1 + \sigma_2) + c^{\beta} x^{\beta}(t + \tau_2 + \sigma_2) \right] \le 0$$

Now using again Lemma 2.1 in the last inequality, we have

$$y'''(t) + Q(t)z^{\alpha}(t - \sigma_1) + \frac{P(t)}{4^{\beta - 1}}z^{\beta}(t + \sigma_2) \le 0, \quad t \ge t_1.$$

Next we consider two cases for z'(t) as in Lemma 2.2 for $t \ge t_1$.

Case 1. Suppose z'(t) > 0. Then from (2.4), we have

$$y'''(t) + Q(t)z^{\alpha}(t-\sigma) + \frac{P(t)}{4^{\beta-1}}z^{\beta}(t-\sigma) \le 0, \quad t \ge t_1.$$
(2.5)

Define $u_1 = \eta_1^{-1} \frac{P(t)}{4^{\beta-1}} z^{\beta}(t-\sigma)$ and $u_2 = \eta_2^{-1} Q(t) z^{\alpha}(t-\sigma)$. Using arithmetic geometric mean inequality $\frac{u_1 \eta_1 + u_2 \eta_2}{\eta_1 + \eta_2} \ge (u_1^{\eta_1} u_2^{\eta_2})^{\frac{1}{\eta_1 + \eta_2}}$, in (2.5) we have

$$y'''(t) + \eta_1^{-\eta_1} \eta_2^{-\eta_2} \left(\frac{P(t)}{4^{\beta-1}}\right)^{\eta_1} Q^{\eta_2}(t) \ z(t-\sigma) \le 0, \quad t \ge t_1.$$
(2.6)

Further from the definition of y(t), we have

$$y(t) \le (1 + b^{\alpha} + c^{\alpha}) \ z(t + \tau_2 - \sigma), \quad t \ge t_1.$$
 (2.7)

Using the inequality (2.7) in (2.10), we obtain that y(t) is a positive solution of

$$y'''(t) + \frac{\eta_1^{-\eta_1}\eta_2^{-\eta_2}}{(1+b^{\alpha}+c^{\alpha})} \left(\frac{P(t)}{4^{\beta-1}}\right)^{\eta_1} Q^{\eta_2}(t) \ y(t-\tau_2+\sigma) \le 0, \quad t \ge t_1.$$
(2.8)

But by [6, Corollary 1], the condition (2.1) implies that inequality (2.8) is oscillatory, which is a contradiction.

Case 2. Suppose z'(t) < 0 for $t \ge t_1$. Then from (2.4) we have

$$y'''(t) + Q(t)z^{\alpha}(t+\sigma) + \frac{P(t)}{4^{\beta-1}}z^{\beta}(t+\sigma) \le 0, \quad t \ge t_1.$$
(2.9)

Again using arithmetic geometric mean inequality, we have from last inequality

$$y'''(t) + \eta_1^{-\eta_1} \eta_2^{-\eta_2} \left(\frac{P(t)}{4^{\beta-1}}\right)^{\eta_1} Q^{\eta_2}(t) \ z(t+\sigma) \le 0, \quad t \ge t_1.$$
(2.10)

Further the definition of y(t), we have

$$y(t) \le (1 + b^{\alpha} + c^{\alpha}) \ z(t - \tau_1), \quad t \ge t_1.$$
 (2.11)

Using the inequality (2.11) in (2.10), we obtain that y(t) is a positive solution of

$$y'''(t) + \frac{\eta_1^{-\eta_1} \eta_2^{-\eta_2}}{(1+b^{\alpha}+c^{\alpha})} \left(\frac{P(t)}{4^{\beta-1}}\right)^{\eta_1} Q^{\eta_2}(t) \ y(t+\tau_1+\sigma) \le 0, \quad t \ge t_1.$$
(2.12)

But by [14, Corollary 3.5], the condition (2.2) implies that inequality (2.12) is oscillatory, which is a contradiction. This completes the proof.

Theorem 2.4. Assume that $0 < \beta < 1 < \alpha$ and $\sigma_i > \tau_i$ for i = 1, 2. If

$$\liminf_{t \to \infty} \int_{t - \frac{(\sigma - \tau_2)}{3}}^t (\sigma + \tau_2)^2 Q^{\eta_1}(s) P^{\eta_2}(s) ds > \left(\frac{9}{4e}\right) \eta_1^{\eta_1} \eta_2^{\eta_2} \left(4^{\alpha - 1}\right)^{\eta_2}$$

and

$$\int_{t_0}^{\infty} P^{\eta_2}(s) Q^{\eta_1}(s) ds = \infty,$$

where $\eta_1 = \frac{1-\beta}{\alpha-\beta}$, $\eta_2 = \frac{\alpha-1}{\alpha-\beta}$ are satisfied, then every solution of equation (1.1) is oscillatory.

Proof. The proof is similar to that of Theorem 2.3 and hence the details are omitted. \Box

3. Examples

Example 3.1. Consider the third order mixed type neutral differential equation

$$\left[x(t) + \frac{1}{4}x(t-\pi) + \frac{1}{3}x(t+\frac{\pi}{2})\right]^{\prime\prime\prime} + \frac{1}{12}x^{\frac{1}{3}}(t-2\pi) + \frac{1}{12}x^{\frac{5}{3}}(t+2\pi) = 0, \quad (3.1)$$

for $t \ge 2\pi$. Here $b(t) = \frac{1}{4}$, $c(t) = \frac{1}{3}$, $p(t) = q(t) = \frac{1}{12}$, $\tau_1 = \pi$, $\tau_2 = \pi/2$, $\sigma_1 = \sigma_2 = 2\pi$, $\alpha = \frac{1}{3}$, $\beta = \frac{5}{3}$. Further $\sigma = 2\pi$, $P(t) = Q(t) = \frac{1}{12}$, $\eta_1 = \eta_2 = \frac{1}{2}$. It is easy to see that all the conditions of Theorem 2.3 are satisfied and hence all solutions of (3.1) are oscillatory.

Example 3.2. Consider the third order mixed type neutral differential equation

$$\left[x(t) + \frac{1}{3}x(t - \frac{\pi}{2}) + \frac{1}{4}x(t + \pi)\right]^{\prime\prime\prime} + 2x^{\frac{5}{3}}(t - 2\pi) + 3x^{\frac{1}{3}}(t + 3\frac{\pi}{2}) = 0, \quad (3.2)$$

for $t \ge 2\pi$. Here $b(t) = \frac{1}{3}$, $c(t) = \frac{1}{4}$, p(t) = 3, q(t) = 2, $\tau_1 = \frac{\pi}{2}$, $\tau_2 = \pi$, $\sigma_1 = 2\pi$, $\sigma_2 = \frac{3\pi}{2}$, $\alpha = \frac{5}{3}$, $\beta = \frac{1}{3}$. Further $\sigma = 2\pi$, P(t) = 3, Q(t) = 2, $\eta_1 = \eta_2 = \frac{1}{2}$. It is easy to see that all the conditions of Theorem 2.4 are satisfied and hence all solutions of (3.2) are oscillatory.

We conclude this paper by the following remark.

Remark 3.3. In this paper we established sufficient conditions for the oscillation of all solutions of third order differential equations with mixed arguments and nonlinearities. Therefore our results are new and useful one.

References

- R.P. Agarwal, B. Baculáková, J. Džurina and T. Li, Oscillation of third-order nonlinear functional differential equations with mixed arguments, Acta Math. Hungar., 134 (2011), 54–67.
- B. Baculíková and J. Džurina, Oscillation of third-order functional differential equations, Elec. J. Qual. Theory Diff. Equ., 43 (2010), 1–10.
- B. Baculíková and J. Džurina, Oscillation of third-order neutral differential equations, Math. Comput. Modelling, 52 (2010), 215–226.
- [4] B. Baculíková and J. Džurina, On the aymptotic behavior of a class of third order nonlinear neutral differential equations, Cent. European J. Math., 8 (2010), 1091–1103.
- [5] T. Candan and R.S. Dahiya, Functional differential equations of third order, Elec. J. Diff. Equ., 12 (2005), 47–56.
- [6] P. Das, Oscillation criteria for odd order neutral equations, J. Math. Anal. Appl., 188 (1994), 245–257.
- [7] K. Gopalsamy, B.S. Lalli and B.G. Zhang, Oscillation of odd order neutral differential equations, Czech. Math. J., 42 (1992), 313–323.
- [8] S.R. Grace, On oscillation of mixed neutral equations, J. Math. Anal. Appl., 194 (1995), 377–388.
- S.R. Grace, Oscillation of mixed neutral fractional differential equations, Appl. Math. Comp., 68 (1995), 1–13.
- [10] J.R. Graef, R. Savithri and E. Thandapani, Oscillatory properties of third order neutral delay differential equations, Dyna. Sys. and Diff. Equ.(Wilmington, NC, 2002), Disc. Cont. Dyn. Sys. A, 2003, 342–350.
- [11] T. Li and E. Thandapani, Oscillation of solutions to odd-order nonlinear neutral functional differential equations, Elec. J. Diff. Equ., 2011(23) (2011), 1–12.
- [12] T. Li, C. Zhang and G. Xing, Oscillation of third order neutral delay differential equations, Abstract and Appl. Anal., 2012 (2012), 1–11.
- [13] Y. Shoukaku, Oscillation criteria for third order non-linear differential equations with functional arguments, Elec. J. Diff. Equ., 2013 (2013), 1–10.
- [14] E. Thandapani and T. Li, On the oscillation of third-order quasi-linear neutral functional differential equations, Arch. Math., 47 (2011), 181–199.
- [15] E. Thandapani and R. Rama, Oscillatory behavior of solutions of certain third order mixed neutral differential equations, Tamkang Jour. of Math., 44 (2013), 97–110.
- [16] J.R. Yau, Oscillation of higher order neutral differential equations of mixed type, Israel J. Math., 115 (2000), 125–136.

406